Dimension Drawings

Converters
260 260 ¥ 1
1) e . £ e e e b3
I'm — 3 - y s 1
g g
L — 1 1 ]
|
I
!
3 <0 3 } s
g 8 gl | 38
I
I
I
I
I
I
|
I
I
I
R j F225 3375 =45~ R / 20,5 [P *225*\12 2254
220 . 67,5 90—+ 220 135 —» 1 eo
0.55kW 1115KW  3kWand 4 kW 5.5/75 kW 11/15 kW
Fig.1 Fig.2
Inverters
hzeso—» 260
1) — v r g r 1) T r r g r wr
— - |
|
I
!
o <10 3 i <
g I8 s ¢
I
I
I
I
I
I
!
I
% T R R . - . I
R j F225 j L3375 45 N el 4 225 lti 2254
220 . 5k 67,5 90—+ 220 / 135 —> 180
O.75kW 15/2.2kW  4KW 5.5/75/11 kW 15/18.5 kKW
Fig.3 Fig.4

Rectifiers units

260 ———» 0 —
" : ~[F8 e3¢
7L [} @ i
3
o
3 <10
o ¢
[ | 2 R I Y [ o o[ T
(Y N o
= a [aV) a N o a
1 *451¢ L " - - L 22,5’1 .
220 . i 135 —»! 180
15 kW 50 kW 100 kW
Fig.5

1) Retaining bolts: M 5.



DA65-5348b

+aj‘/ o

0
o

%bai

Fig.6

Sizes A,B,Cand D

“¢16
|

j-—— 350 —»

converters, inverters, AFE inverters,

rectifier unit sizes B and C,
rectifier/regenerative unit size C

Dimension Drawings

ol

o [nl

g -l ety

E ty = @\

8350 —» l«—b—=Ia
Side view Front view
Fig.7

Sizes B,Cand D

water-cooled converter and inverter
position of the water connections

@ Feed

@ Return

® Threaded elbow joint
(enclosed)

(@ Space for water connections
atthe side

Notes

Return: upper connection
Feed: Lower connection
Supply of water:

G '/, male thread, flat sealing
Working pressure: max. 1 bar

Type a b f h Type a b h h; h, t ty
6SE70..-.. A 45 90 425 425 6SE70..-..B 65 136 425 380 140 85 140
6SE70..-..B 67.5 135 425 425 6SE70..-..C 65 180 600 500 290 105 43
6SE70..-..C 90 180 600 600 6SE70..-..D 65 270 600 390 254 35 220
6SE70..-..D 457) 270 600 600
1) For size D two lugs left and right.

Lz

a 2o t °
1 f=—t t —k
I T
e S oL SR T I B IR . Qfeed
R 3 ! @ Return
s :
I
|
! Notes
i Seal-off unused water connec-
J . = ! tions with screw and seal (enclo-
! sed).
i Water supply:
! SizeEandF,
! male thread G /,", flat proof
“ i Size G,
o @ @< ! male thread G 3/,", flat proof
H | ¥
3 i
o o |1 | room E o T T4q] :E:,,,,,,,,J Working pressure:
N La t DAB5-5350a E«Q»l N L [} i max. 1 bar

e b— =l 2D

Fig.8 Fig.9
SizesE,Fand G SizesE,Fand G
Converter, inverter, AFE inverter water-cooled converter and inverter

position of the water connection

Type a a, b by ¢ e f h t Type b h hy  hy t4 t, t3 ty k
Converter/ Converter/
inverter inverter
6SE70..-..E 45 180 270 10 350 400 15 1025 1050 365 6SE70..-..E 270 1050 42 25 117 56 91 56 30
6SE70..-..F 45 270 360 10 350 400 15 1025 1050 365 6SE70..-..F 360 1050 42 25 207 56 181 56 30
6SE70..-..G 119 270 508 25 350 320 50 1375 1450 465 6SE70..-..G 508 1450 31 40 233 66 191 66 40




Dimension Drawings

508 ~—285—=
T_azazz;zsémaau 376 s ﬁammmw
=——350 —= =—234 40 - 155
~—269—— B 340 = 927 = 40| 26|t 119 = = 130 [f ® 2
44,5~ rmoﬂ ® —294—= || © S , 207183~ {85~ ! L
|
— O | | N~ C/L+ DI/L- D/L- C/L+
3 CIL+D/L—/© l T ST T J ﬂﬂ & &
2 8 a3
<170 ®® Jﬂ ® & F“O 8
<228 ¢ ¢ WinV1 nut | PE1
L3qL2 L1 ]
4 | e
o o
v wn
o
© 2 PE1 o
S g ¢ g @ S 3
<148 @ T N
04,5~
- 41 PE2
D
§Yo17 J]r 3
1 RNE
o 18| B e | 0%

e I ERNHLS = ® ! T
LerI “ 213 7 17»LJ U\*_@ DABS 525D Jm‘i> 424 a-l 119~ 270
= 1004 ~30 8 ~704 =30 213 g 551 ¥

-1 168,5 = $

@
Fig. 14 Fig. 15
SizeE SizeH

Rectifier unit, Rectifier unit

rectifier/regenerative unit

@ Airinlet, e.g. up to the closed cabinet base or cable duct

508 j—— 285 —wy
376 f=— 225 —= T @ Airoutlet up to a reflecting surface, e.g. ceiling or closed roof
~—234 40, -~ 155 r o ® Through-hole for M 12 bolt
192y 40| 26—t 119 |~ -+ 130 [+ ® s ® M 12 thread
61 26—1 T53< - 35r $ ¢ ® Through-hole for M 8 bolt
| A iNR] Ll DAGS5828  (® Through-hole for power connections
| ®°4ﬁ4'| T @ DL ClL+ N " M 16 for 6SE7036-1EE85-0AAQ, BSE7034-2FE85-0AAQ,
N ? o ¢ B6SE7035-4FE85-0AAQ, 6SE7034-2HE85-0AA0
& ] and BSE7035-4HE85-0AA0
¢ ¢ wivt dut ] pEq M 12 for all other units
L3q|L2]L1 ]@ @ Pre-fitted terminal for PE
i I M 16 for 6SE7036-1EE85-0AAQ, 6SE7034-2FE85-0AAQ,
2 2 6SE7035-4FE85-0AA0, 6SE7034-2HEB5-0AA0
and 6SE7035-4HE85-0AA0
PE1 M 12 for all other units
©) S o Lifting eye @30 mm
Si=] @® Front cover (doors) and terminal cover, only with IP20 version
PE2
®
B
i -4f ! PE2
I 1U‘2/1‘T1 1V‘2/1‘T2 1W2/1‘T3;74' D @ ‘ T* ?
A* 921 Lﬂ L u70<j3 é L—296—» é» 119 L 270——J
l~—234 40 L < 424
376 40 551
Fig.16
Size H

Rectifier/regenerative unit



665 C?

40 400
555 ~——-340 F
420 40 =— 270
l——310 =200 5
50*4175:‘0 F4O f% :81530¢r l
177 |26] 26 | |26]][26 i '\g; L1 DAGS 5827
Y [ S R 3 © 101 c+ Wi vigiut | PE1 "
SN S [ FHHeeEETE| [ - o o
UTILT Ly Vinz DI wWis| | & ©
e N
PE1
@) ©)
o
o o
3 g
o
n
1 PE2
& | .
|
710 e L(A, LZOS* «ZSS—J é
800 N 550 483
é - 708
Fig.17
Size K
Rectifier unit
@
665 ! =40 400
555 |=—340 1
420 40 (~— 270
~——-310 =200 §
=175 (=40 4®N | 130 =
50— 40 © 1 85
1 Ea %6 | 26][ %6 o1& DA65.53233J
H 5t [ dc lw v T1u
e | | - - © Ll dli s g i |PE! 7
RGBSR IEEERIE IR
1ULT 1CIL+ VL2 1D/- 1WA || & ©
v} N
PE1
@ ®
PE2
D3 0
U2 1v2 w2 'FfJ PE2 S
171 172 13 ﬁj—- @) H T
| [ 9 ;
<90—\ L50 L .}) 190 | «258——J 0
- 335 50 N L340—— 483 o
580 50 - 550 708
710 40
800 -

o

Fig.18

Size K
Rectifier/regenerative units

Dimension Drawings

@ Airinlet

@ Airoutlet

® Through-hole for M 12 bolt
® M 12 thread

@ Airinlet

@ Airoutlet

® Through-hole for M 12 bolt
® M 12 thread



Dimension Drawings

Sectional view A-A Rectifier/regenerative unit  Inverter Sectional view B-B
Q/L+ C/L+4
for M12 ‘ 87 296,5
ow \ [ 185— ~~5 —50~——360 —— for M10 for M12 o
PV \[45145/45< 158 @ B™ | 5~ !*A @ 113 +]45¢45¢45 T 5= \ \ P
) | [ 7l o
B LR ) i[ge EIEEE: 3 EEET TR S—
— " | o =+ Ak 1
© © =]
® i © % é
©® ® E 1
Chui L) = )
2 c c — 2
o {T P4 [T e = “Mle g o
3 i ~ — L3
E L E A7 Efl —
T, ] — D
T ® i H q[H . — ©
b ==
T o= o é
= q L \ [ ] ®I — = °
— jer ‘e/ L@ *|x19 F3 ; =]
o =Z IS5 — T OO |
= = ooxdicn 8 s f ‘u_i =] = TFXW = b | @Ex%?g%xﬁeL— =
-5 ! Bl A ligzsd b b L—1g0— Xeet Aonseonse
\ 400 | Tuzs) ~—160———250 - g5~ @
587 ’ ~132,5
~—175—
~—212,5
®Y© 136 = =24
Te]
~
<
8 [aV]
3 l 5
— 5
[3\)
«
| |
~102 485 ! @
Fig. 19
@ Airoutlet @® Optional air duct Max. wire cross-section for cable
(@ Optional mounting surfaces for (Mounting 5 x M 6) with cable lug to DIN 46 234:
wall mounting If operated without an air conduit, 8x250 mm?2
® Optional mounting surfaces for it must be ensured that air can es- ) ’
horizontal mounting cape unhindered. Ilgﬁr‘][ggt\li'\ogn‘?rque for customer
Circulation of exhaust air must be CL + = 44N
excluded. += m

@ =60Nm



